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QUESTION 1

The VISIT data set is multiple records per subject, sorted by usubjid vistdtc vistm and contains the following variables:

kS Variable Type Len
3 VISITHNUNR Char 3
1 VISTDTC Char 1=
2 VISTH Char 5
4 usubjid Metn B

The DEATH data set is one record per subject, sorted by usubijid vistdtc vistm and contains the following variables:

# Variable Type Len
3 DHREFID Char 5
4 DHTERH Char 200
i VISTDTC Char 12
2 VISTH Char 5
5 usubjid T =4

Which program will combine the DEATH and VISIT data sets by matching records?
A. data data_1; merge death visit; by usubjid vistdtc vistm; run;

B. data data_1; merge death visit; run;

C. data data_1; set death visit; by usubjid vistdtc vistm; run;

D. data data_1; merge death visit; by usubjid vistm vistdtc; run;

Correct Answer: A

QUESTION 2

The following SAS program is submitted, but fails due to syntax errors.

data WORKE.TOTALEXPEND (kesp=NonthExp{la}):
set WORK.HONTHLYEXPEND (keep=Year Drug Disp):
array MonthExp{lZ};
da 1=1 to 12;
HonthExpi{ir=Di=zp;
end;
drop 1:
Cun;

What is the cause of the syntax errors?
A. The keep= data set option should be (keep=MonthExp*).
B. An array can only be referenced in a KEEP statement and not within a keep= data set option.

C. An array cannot be referenced on a keep= data set option.
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D. The keep= data set option should be (keep=MonthExp).

Correct Answer: C

QUESTION 3

Given the file sites.csv:

Investigator Neame,3tate, Specialty,Visit Fee
"Jones, Thowas",NJ,Pediatrics,s0
ramith, Nary", NJ,Gynecology, 120
rEumar, Sanjay",DE,Pediatries,BS

A SAS program is submitted and produces the following log entry:

i data xzites ;

2 infile 'sites.csv! dlmw=',! dad ;

3 input investigator hame § =tate 5§ specialty § vigit_fes ;
i Tun ;

HOTE: The infile 'gites.cav' is:
File Name=C:4YSAS Exam Data\sites.csv,
RECFH=V, LRECL=Z5¢

HOTE: Invalid data for visit _fee in line 1 35-43.

RULE : o e ey 2 f 3- b
i Investigator Hame State, Specialty, Visit Fee 43
investigator name=Investig state=5tate specialty=5Specialt visit rfee=. FRROR =1 N =

NOTE: 4 records were read from the infile 'sices.cav'.
The minimum record length was 32.
The maximum record length was 43,

Which option would you need to add to the INFILE statement to clear the notes from this log?
A. firstobs=2

B. missover

C. Irecl=2

D. start=2

Correct Answer: A

QUESTION 4

The following SAS program is submitted:

data WORK.TEST;
get WORK.WeTCODE;
if Subjecode=‘lgtd' then Description='dwver';
else Degcription='Unknown';

run;:
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If the value for the variable Subjcode is "WGT2", what is the value of the variable Description?

A. missing character value
B. Unknown

C. Over

D. Wgt2

Correct Answer: B

QUESTION 5

Given the data set HE:

OSUBJID HETEERHN HESEQ HEDTIR
201027 HOSFITALIZATION 1 50D
Z01027 HOSPITALIZATION 2 .
201027 HOSPITALIZATION 3 10
201027 HOEPITALIZATICN i 5
211046 HOSPITALIZATION 1 =
211046 HOSPITALIZATION 2

The following SAS Program is submitted:

data hosp:
retain hospdurd;
=mat HE:
by usubijid:
if firat.usubijid then hospdurd=0;
hospdurd = hospdurd + hedur;
if last.usubjid;
Tun;

What will the values be of variable HOSPDURD for the two subjects?
A. 5, missing

B. missing, missing

C.65,9

D. 50,9

Correct Answer: B
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